1. Pat aims his potato gun horizontally at a target 90.0 meters away. He
lines the bull’s eye up in the sights. The potato leaves the gun with a

horizontal velocity of 200. M/,
a. How much time does it take the potato to reach the target?

b. Does Pat hit the bull's eye (assuming the left-right aim is good)? If
not, by how much does he miss?

- > L. d
O‘-\) Cig ‘Y”t - \!‘Y\ ' JL: e % - ':{;i

. qo0.0om

he 200, m/g

S (5(“ ies!

\‘F’m s 200, mfi‘/’

Oy, = f'"ﬁmi

O“‘*’ b %m a9 ED Wﬁ/bw

44444

e QG vy

= 5 (330" )( 0505)"
o - 3 .
Ly = A2 NG

Hetll TY’\\“M Yho wuddls &wﬁ ;’:}
”(” %-2 W”\

Page 1 of 4



. Pat is out in an open flat grassy field. He holds the potato gun 1.25
meters off of the ground and fires it horizontally. The potato leaves the
gun with a velocity of 300. ™/,

a. How far will the bullet travel horizontally before hitting the
ground?

b. After 0.25 seconds of falling, what are the horizontal and vertical
components of its velocity?
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d.

3. Pat is sitting on the flat ground with his potato gun. He aims it at 30°
from the horizontal and fires the potato with a velocity of 300. M/,
a. What are the horizontal and vertical components just as it is fired?
b. What are the horizontal and vertical components at the top of its
path? T
c¢. How much time does it take to reach the top of its path?
d. How much time does it stay in the air?
e. How far away from Pat does the potato hit the ground?
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4. Pat is sitting on top of a 200. meter high cliff with his potato gun. He
fires it at 40° from the horizontal with a velocity of 300. M/,
a. What are the horizontal and vertical components of its velocity
when it is fired?
How much time does it take to reach its peak height?
How much time does it take to reach the ground?
What is its vertical component just before it hits the ground?

How far (horizontally) away from the cliff does the potato hit the
ground?
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